ROSYTH SCHOOL
2018 PRELIMINARY EXAMINATION

MATHEMATICS
PAPER 1
PRIMARY 6
Name: - ' Register No.
Class: Pr 6-_ .
Date: 20 August 2018 ~ Parent’s Signature: -

Total Time for Booklets A and B : 1 hour

Bogklet A

Instructions to Pupils:

Do not open this booklet until you are told to do so.
Follow all instructions carefully. .
Shade your answers in the Optical Answer Sheet (OAS) provided.

You are not allowed to use a calculator.

B e

Answer all questions.

Section Maximum Mark Marks Obtained

* This booklet consists of 8 pages (including this cover page).

This paper is not to be reproduced in part or whole without the permission of the Principal.
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Questions 1 tO»ﬂﬂ-éé'iﬂr;Thiérk each. Questions 11 to 15

carry 2 marks each. ~‘

For each question, four options are given. One of them is the correct answer. -~
Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical Answer Sheet.

All diagrams in this paper are not drawn to scale uniess stated otherwise.

(20 marks)

1. Round off 41 856 to the nearest thousands.

(1)
2
(3
(4)

41 000°
41 860
41 900
42 000

2.  Armrange these distances from the longest to the shortest:

M
(2)
3
“

3. Express 14m-12 - Sm +7m in its simplest form.

(1
@)
3
(4)

- 5.01m, 0.55 km, 505 cm
Longest Shortest
055km , 505cm 5.01m
0.55 km , 5.01m 505 cm ’
505cm , 5.01m 0.55 km
0.55 km

501m

'3m _
m+2.
m-12 -

3

505 cm

(Go on to the next page)



4. o In the figure below,fF_{;S' =RSFmd the area of triarig»le PQR T

9cm

Q R : s

(1) 135cm?
(2) 22.5cm?
(3) 54cm?

(4) 67.5cm?

»

»

5.  Alitravelled at an average speed of 60 km/h from :home to his work place. He took
20 min for the journey. What was the distance travelled?
(1) 12km
(2) 20km
(3) 3km
(4) 1200 km

- (Go on to the next page)



6. Which of the foliowing nets can be folded to form a cube? — -

1)
@)
@)
4)

(A) B (©
A and B only

A, B and Cronly

A,Cand D bnly

All of the above

How long is the-clinic open each day?

(1)
@
©)
-4)

(D)

. Ey

The opening hours of Chan’s Clinic are shown below.

6 h 15 min
6 h 45 min
7h 15 min
7 h 45 min

Chan’s Clinic
Opening Hours
9am.to1pm.

6.45 p.m. to 10 p.m.

=)

(Go on to the next page)



~The table shows the number- o‘ students who travels to. school -using- different

modes of traneport during- school days Wh:ch ‘pie chart. represents the data

correcﬁy'?

Students who travel to school

Number of Students

School Bus Walk ~ Public Bus MRT
. Mode of;Transpor.t i '

(2)

?)

Public | o | (4)

[}

(Go on to the next page)
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10.

_wRead the fo!lowmg statemenfs and dec;de whether the staiemem(s) rs/are
~Not always True, True or False.

A. Al four-sided shapes can always be divided into 2 triangles.

' B.
C.

(1)
2
@)
(4)

tlme

There are no parallel lines in a trapezium.
Every square is a parallelogram.
A B C
Not always true True .. False =~ .
True False Not always true
True - | False © True
Not alwaystrue |  False Not always trie

The graph below shows the nu'nber of members in a fitness club over a period of

Number of Members

Number of Members in a Fithess Club

60

40

20

. _ Months

Which month did the fitness club have the greatest i lncrease in the number of

members?

(1) JantoFeb
(2) Febto Mar
(3) Marto Apr
(4) Aprto May

S

“(Go on to the next page)



1. Mrs Tan had 15 kg of ﬂour.v She packed the flour equally ﬁhtopa}gs, each weighing

4 .
5 kg. How much flour was left unpacked?

(1) %_kg
@t
(3) gkg
(4) '%kg

2 1
-42. Thomas had a total of 800 red, blue and black pens. P of the pens were red. s of
the remaining pens were blue. How many black pens were there? -

(1) 72

2 192 )
(3) 240 "
4) 288

13. In the equation Vbelow, find the number in the box.

05 x 240 =| ? | x 1200
(1) 0.01 |

(2) 0.1

(3) 25

(4 5

(Go on to the next page)



14. A piece of paper in the shape of an equilateral triangle is;folded“a!c}hg the dotted

15.

line as shown below. Find «x.

(1

o)

(3)

)

The figure below is made up of»a rectangle and 3 identical circles. Find the area of
the shaded part. Leave your answer in terms of .

1cm1:'

(1)
2
@)
@)

15°
30°
105°

150°

1cm

: (24 - 3m) cm?

@4 —m) cm?®
(6 — 3m) cm?
(6 — ) cm?

v

‘Goon to Booklet B
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Booklet B

Instructions to Pupils:

Do not open this booklet until you are told to do so.
Follow all instructions carefully. .

You are not allowed to use a calculatof.'

Write your answers in fhe' booklet.

Answer all questions.

SAUNE N

Section | © MaximumMark | Marks Obtained

Paper 1 (Booklet B) 25

* This booklet consists of 10 pages (including this cover page).

This paper is not to be reproduced in part or whole without the permission of the
Principal. ’ ' -




~ For'questions which require units, give your answers in the units stated.

Questions 16 to 20 carry 1 mark each. Write your answers fn the éﬁééés -provided.w

Do not write
All diagrams in this paper are not drawn to scale unless stated otherwise. In this space
(5 marks)
16. Find the sum of 3'tens, 33 hundfédths_ and 300 thousandths.
Answer :
17. The gfaph below shows the height of 3 boys Ali, Bala and Charles. Find
the total height of Ali and Charles.
Height of Boys ’
140 ‘
120 A
3 100 A
S 80 -
S 60 -
@
T 40 -
20
. 0 : ' . '
Ali Bala Charles
Names of Boys

Answer : cm

(Go on to the next page)



~ 18.. Find 0.5% of 500.

Answer :

" { Do not write
in this space

18. The net shown below can be folded to form a cuboid.
What is the volume of the cuboid?

8cm
| ——————>

g —

-

Answer :

cm

(Go on to the next page)



Do not write
in this space
Answer :

(Go on to the next page)



Questions 21 to 30 carry 2 marks each. Sh"ow’yourworkings clearlymthespace N

‘provided for each question and write your answers in the spaces provided. Do not write
For questions which require units, give your answers in the units stated. in this space
All diagrams in this paper are not drawn to scale unless statedothérwiée. |

(20 marks)
21.  Find the value of (87 —23) x 2 + 4 — (36 — 24).
Answer :
22. The table below shows the parking charges of a carpark.
First hour $1.20 -
Every additional 10 minutes
or part thereof $0'_80
How much does it cost to park from 3 p.m. to 5.06 p.m.?
{
Answer : ‘

5 (Go on to the next page)



23,

In a class, évery group of 4 boys was given 6 stickers and every group of |5, ot write

3 girls was given 8 stickers. The class teacher gave the stickers to an. |in this space.
equal number of boys and girls. What was the minimum number of
stickers needed? ‘
Answer :
24. A packet of sausages is shown below. Mrs Lee bought 1kg 400g of

sausages. How many sausages did she buy?

7 identical
sausages
280g

~ Answer °

6 (Go on to the next page)




2'5'. |  The fi gure below is made up of squares... : o
Shade two more squares so that the ﬁgure has a line of symmetry. Do not write -

- {in this space .

26. The ﬁgufe below shows 1-cm unit cubes stacked against a comer. What is
the least number of unit cubes that must be removed to form a cube?

Answer :

7 v (Go on to the next page)



27. " Draw the top view of the solid in the grid below.

" | Do not write
» . 8 Top view ’ . in this space
: - Front view Side view
| Top view
28. The total cost of 3 apples and 2 peérs is $(by + 3). The cost of 2 apples
is $2 more than the cost of 2 pears. What is the total cost of an apple
and a pear? Express the answer in terms of y. - :
Answer ; $.
(Go on to the next page)



29, Figure A is made up of 8 identical squares, There are 3 squares

removed from Figure A to form Figure B. The perimeter of Figure Bis | pg not write
120 cm. What is the perimeter of Figure A? in this space
Figure A AR Figure B
Answer : ’ cm i

9 ' : (Go on to the next page)



30, The_square ABCD was cut into § parts. Given that the ratio of BE : EC
is1:1, theratioof EF : FCis 1:2 and the ratio of DG : GCis 3 : 1. Do not write
What fraction of the square is shaded? in this space

A

Answer :

End of paper
Have you checked your work?

10
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1. Do not open this booklet until you are told to do so.
2. Follow all instructions carefully.
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-5. You are allowed to use a calculator.
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Paper 1 45
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Quéétions 1t05 carry 2 marks each. Show your working clearly in the space | Do not write
provided for each question and write your answers in the spaces provided. For | inthis space .
questions which require units, give your answers in the units stated.

. _ e S | (10 marks)
All diagrams in this paper are not drawn to scale unless stated otherwise.

1. Tricia had 70 chocolates. She gave 3w chocolates to her brother. Then
she gave the rest equally,to her 5-cousins. How many chocolates did -
~ each cousin receive? Leave your answer in terms of w.

Answer :

- o . U : 1 H .
2. Mrs Pradeep bought some flour. She used 2-5 kg of the flour and gave
3 : 3 :
z of the remaining flour to her sister. In the end, she was left with 13 kg of

the flour. How much flour did she buy at first?

Answer : kg




‘ Arieulfw‘aér“évt a fun-fair. Thé table 'below shows 'the number éf- points |

“which can be exchanged for tickets. Ariel wanted to win a soft-toy which
required 80 tickets. How many points must Ariel get in order to

exchange for her soft-toy?

Points Tickets
885 300
Answer :

Miss Lee gave away an almond on.Day 1. She increased the number of
almonds given away every day by 100%. Find the ratio of the number

of almonds given on Day 7 to the number of almonds given on Day 3.

Give your answer in the simplest form.

Answer :

Do not write
in this spac




The average bfthe odd numbers below is 7. What odd number must be Do not wiite
added so that the average of all the numbers becomes 10? : in this space

1

}

| 1.3,5,7,9,11,13

&

Answer : S




For Questions 6 t0 17, show your working clearly in the space provided for each
question and write your answers in the spaces provided. The number of marks
available is shown in brackets [ ] at the end of each question or part-question.
For questions which require units, give your answers in the units stated.
' (45 marks)
All diagrams in.this paper are not drawn to scale unless stated otherwise.

6. A crate was filled with-an equal number of apples and oranges. The
apples were sold for $315. and the oranges were sold for $225. Each
apple cost $0.20 more than each orange. How many oranges were
sold?

i

-Answer : ‘ [31

Do not write
in this spac




The ratio of the number of Dawn’s stickers to the number of Evélyn’s Do not write . -
. N N DO v 1 3 in this space

stickers was 1 : 4. After Dawn and Evelyn gave away 3 and P of their

_stickers respectively, they were left with 90 stickers altogether. How

many stickers did they have a_f first?

Answer : [3]




The é"%éfééén}ﬁass 70f18 baskets of fruits at a zoo feeding. station was
23 kg. Some baskets of fruits with an average mass of 20.4 kg were

added. The average mass of all the baskets of fruits became 22 kg. |

How many baskets of fruits were added?

Answer : (31

Do not write .
in this spac




In the figure below, ABCD is a parallelogram and AE = AB. «BFCisa | Do not write
right angle. £FBC = 47°and £EAD =25". Find £x. ' in this space
A B
X
e w ol
0
x
0
D E c F
Answer : [3]




10.

_The ﬁéﬁré:vbefow is 'rﬁadvé up of three quadrants and six identical
squares. Each side of the squares is 1 cm. The length of OX is 6 cm. -

Find the perimeter of the shaded part. Take the calculator value of «

and give your answer correct to 2 decimal places.

i

Ans:

3]

} Do -r’a.ot—\’«'lri-téw ‘
in this spact




T

Amos and his sister shared $1674. Amos spent 25% of his money and

his sister spent 70% of her money Aﬁer that Amos had twice as much
money left as his sister.

(@ How much did Amos have in the end?
(b) What was the percentage decrease in the total sum of money?

4

Ans: a) 31

by 2]

I Do not write :

in this space

10



12.-

A bakery soid dunan chocolate and strawberry puffs in the ratio of 3: 4 : 2.
Each durian, chocolate and strawberry puff was sold for $5, $3 and $4. A

~ total of $560 was collected on a Sunday afternoon. Find the amount of

money collected from the sale of durian puffs.

Ans : [4]

| Do not write - -
in this spact

11




- 13. Two !dentlcal T-shaped contalners P and Q, are shown below. Both of

them have the same amount of wateri m it.

(a) Find the volume of the water in contamer P.
(b) Find the height of the water in container Q.

60 cm

vE
N
30 cm
_ 25cm 25 cm
Container P Container Q

Answer : a)

b)

[2]
3]

Do not write
in this space

12



14,

in a‘donétibh drive, a ciaSé of 4Cmboys and gir!s“helbeéf to distribute

'some food items. Each boy distributed 4 bags while each girl distributed
'3 bags. The boys distributed 62 more bags than the girls. How many

boys were there?

Answer : 4]

in this spac’

13

.Do,nof wnte



15.

Sam and Ben started swimming at the same time from the opposite ends

of a 30-m swimming pool. Each boy would tumn in the opposite direction
and continue swimming upon reaching the end of the pool. The average
speed of Sam was 1.m/s and the average speed of Ben was 0.6 m/s. How

" many times did they meet each other if they swam for 10 min? (Assuming

that the tumning time is neglected.)

Answer : [4}

Do not write -

in this space

14



16.  The ‘ﬁén}é:below shows a triangle ABC drawn on a grid: | Do not writ
- , : - in this spac

a)  BCD s another triangle with the same area as triangle ABC.
Draw BCD on the grid below such that BCD does not overlap with

ABC. [2m]

(b)  Draw a 4-sided figure with the same area as triangle ABC in part

(@). [2m]

15



17.

25% c}f Elle’s money was spent on 5 files and 10 erasers. The cost of
- each file was twice the cost of each eraser. Elle bought some more

erasers with 40% of her remaih’ing money. How many erasers did she

buy altogether?

Ans :

, 'End of paper
Have you checked your work?

[A]

Do not write -
in this space -

16



ANSWER KEY

YEAR : 2018

LEVEL :PRIMARY 6

'SCHOOL : ROSYTH SCHOOL

SUBJECT : MATHEMATICS

TERM  : PRELIMINARY EXAMINATION

PAPER 1 BOOKLET A

Q1 |4 Q2 1 Q3 |4 Q4 |1 Q5
Q6 |2 Q7 |3 Q8 |4 QY |3 Q10 | 4
Q113 Q1214 Q13 [2 Q14 |4 Q151

PAPER 1 BOOXKLET B

Q16) 30.63

Q17) 250cm
Q18)2.5

Q19) 200cm’
Q20) 8 faces
Q21) 20

Q22) $6.80

Q23) 50 stickers
Q24) 35 sausages

Q25)




0 Teabes

Q27)

Q28)(2y+1)
Q29) 168em

5
Q30) -
PAPER 2

70-3w

QD (=)

Q2) Skg

Q3) 236 points
Q4)16:1

Q5) 31

Q6) Equal no of fruits: n
na > $315
no > $225
315-225=890

a > 20cents + o

na > 20n cents + no
20n cents = $90
0.20 n = $90
n = 450



QND:E
1:4
=3:12
-1u-%9u
=2u:3u

S5u-> 90

1lu—> 18

3:12 =15u total

15 x 18 = 270 stickers

Q8) Totalof 8b > 23 x 8
= 184kg
20.4 x n =20.4n kg

In theend 2> (n+8)x 22
={(22n+ 176)kg

184 +20.4n=22n+176

184 =1.6n +176

8kg = 1.6n

n kg = Skg

n =5 baskets

Q9) <BCF > 180690 — 47
:430
<BCE = 90+ 47
© =137
<EAB~> 137-25 . -
=112¢
<x _) 180-2-112

=34

QIO) (r)adius > 6cm
- (d)iameter 2 12¢m
(e)lrcumference 2>dxn

127tx;——~9ncm
6x2=12



12 +12=24em -
(97 + 24)em = 52.2743...
~52.27cm

Qlia)A:S
4u : 10p
-Tu:-7p
=3u:3p
3u==6p
fu=2p

Total: 18p

1p - 1674 - 18
=93

93x6=8558 [

Q11b) = x100% = 50%

Q12)3:4:2
3d=5x3
=15
4c=3x4
=12
2s=4x2
=8
15+12 +8=35
560 +35=16
16 x3=48
48 x $5 = $240

Q13a) 60~ (25x 2 ) =10cm
30 x 10 x 25 = 7500cm’
12 x 60 x 25 = 18 000cm’
18 000 + 7500 = 25 500cm’

QI13b) AirinP 2 3x 60x25
. = 4500cm’
4500 25+ 10 = 18cm




o

30 — 18 +25=27cm

Q14) Assume all girls: 40 x 3 =120
120+ 62=182
4+3=7
182 +7 =26 boy

Q15) 10min = 600s
Sam-> 1x 600
= 600
Ben = 0.6.x 600
=360
Met > 600 +-30
=20




Q17) 5 files 2> 10u
10 erasers = 10u

Total > 20u equals 555 money

o i5_6
40/00f20 70
L-gy
20 ,
4x6=24

24 +10 = 34 erasers

END



